
�EEледо64телLEк4O D45от4 
«ЛN5лN E6о9 п4Dк»»

�уп4ло68G  о<4=, 13 лет, 7 кл4EE
�уп4ло68G �лекE4=дD4, 12 лет, 5 кл4EE, 
уG4I8еEO о5Jед8=е=8O по 8=теDеE4< «�еле=4O 
EтD4=4»,
 уко6од8телL: �у=4е64 �4леD8O !еD7ее6=4, 
пед47о7 допол=8телL=о7о о5D47о64=8O �'О 
«!луFк89 Э�Ц'», �8=Eк4O о5л4EтL, 7.!луFк, 
ул.�.�о7д4=о68G4, 134-4, тел.801795-66916

2024 7од

Гл46=ое упD46ле=8е по о5D47о64=8N М8=о5л8Eполко<4
УпD46ле=8е по о5D47о64=8N СлуFко7о D498Eполко<4 

ГоEуд4DEт6е==ое учDе6де=8е о5D47о64=8O 
«СлуFк89 эколо7о-58оло78чеEк89  Fе=тD уч4щ8EEO»



ЦелP  D45отO: 87уч8тP 8EтоD8N п4Dк4   
кулPтуDO 8 отдOE4 7.СлуFк4, е7о 
Eо6Dе<е==Oе пD8е<O о7еле=е=8O 8 
5л47оуEтDо9Eт64



СодеD64=8е 8EEледо64телPEко9 D45отO:

1. �EтоD8O п4Dк4
2. �8до6ое D47=оо5D478е D4Eт8телL=оEт8
3. КулLтуD=ое =4Eлед8е п4Dк4
4. �еDе6LO-7874=тK
5. Клу<5K
6. �лле8 п4Dк4 8 Dо=т4=
7. �о=K отдKE4
8. �олодKе поE4дк8
9. �4клNGе=8е



• �о 6оEпо<8=4=8O< Eт4Dо68ло6 7. !луFк4 п4Dк кулLтуDK 8 
отдKE4 5Kл 74ло6е= еIU до �ел8ко9 ОтеGеEт6е==о9 6о9=K. К 
Eо64ле=8N, 4DE86=Kе E6еде=8O о до6ое==о9 8EтоD88 п4Dк4 =е 
EоED4=8л8EL.

• �о 6Dе<O �ел8ко9 ОтеGеEт6е==о9 6о9=K п4Dк 5Kл E8лL=о 
по6Dе6дU=.

• � 1946 7оду 5Kло DеHе=о =4G4тL D45отK по 6оEEт4=о6ле=8N 
п4Dк4, =4 Gто 5Kло =4пD46ле=о 60 тKEOG Dу5ле9 
(доDеDоD<е==KE де=е7).

• � 6оEEт4=о68телL=KE D45от4E пD8=8<4л8 уG4Eт8е <=о78е 
пDедпD8Oт8O 7оDод4. �485олLH4O по<оIL 5Kл4 ок474=4 
ЛеEтD4=EEо7о<, �лодо68=746одо<, �оDп8IепDо<тоD7о<. 
 45оG8е 8 Eлу64I8е 7оDод4 уG4Eт6о64л8 6 Eу55от=8к4E по 
6оEEт4=о6ле=8N п4Dк4, D45от4л8 8 поEле око=G4=8O оE=о6=о7о 
D45оGе7о д=O.

• � 8N=е 1946 7од4 д8DектоDо< п4Dк4 5Kл =47=4Gе= �. 
К4Dт4=о68G. Шт4т ут6еD6д4лEO 6 кол8GеEт6е 7 ед8=8F. �Kл4 
уEт4=о6ле=4 пл4т4 74 6Eод 6 п4Dк – 1 Dу5лL, 5 Dу5ле9 Eто8л 6Eод 
=4 т4=FплоI4дку.

• �4Dк 5Kл G4Eт8G=о Eд4= 6 MкEплу4т4F8N 1 8NлO 1946 7од4. 
�Dодел4=4 7=4G8телL=4O D45от4 по 6оEEт4=о6ле=8N п4Dко6о7о 
Eо7O9Eт64: поE46е=о 617 деDе6Lе6, 460 куEто6, 23860 E46е=Fе6 
F6ето6, D4EG8Iе=о 4690 к6. <етDо6 Eт4DKE 8 поло6е=о =о6KE 
4лле9=KE доDо6ек, 6оEEт4=о6ле=о 400 <етDо6 877оDод8, 
EооDу6е=4 т4=FплоI4дк4, Eо5D4=K 8 отDе<о=т8Dо64=K 40 
п4Dко6KE Eк4<еек.

• � 1960 7оду 5Kло DеHе=о поEтDо8тL 6Eод=уN 4Dку, поEтDо8тL 
6тоDо9 6Eод Eо EтоDо=K ул8FK К. Л85к=еEт4, пD8о5DеEт8 
допол=8телL=о 50 Eк4<еек.

• ОGеDед=4O Dеко=EтDукF8O п4Dк4 пDо87оHл4 6  1983 7оду. 
!8л4<8 D45от=8ко6 п4Dк4 5Kло 6KE46е=о около 100 деDе6Lе6, 
600 декоD4т86=KE куEт4D=8ко6, оG8Iе= 8 D4EH8Dе= DуGе9, 
пDотек4NI89 GеDе7 п4Dк, 744ED4лLт8Dо64=о 1000 к6. <, D4758то 
3 F6ет=8к4, пDо6еде=K D45отK по Dеко=EтDукF88, поEтDое=4 
=о64O т4=FплоI4дк4, 74купле=K 4ттD4кF8о=K «!т4лк864NI8еEO 
46то<о58л8», «Ю=74», «�D85ок», 7ото68лEO к к4п8т4лL=о<у 
Dе<о=ту лет=89 те4тD «�Dу654».

1. �EтоD8O п4Dк4



П4Dк кулPтуDO 8 отдOE4 7.СлуFк4
(поEле6ое==O9  пеD8од) 



• � 1995 7оду D45от4 по Dеко=EтDукF88 п4Dк4 5Kл4 
пDодол6е=4.  �Kл8 пDо6еде=K <ел8оD4т86=Kе 
D45отK Eо EтоDо=K ул. Ле=8=4, 6KE46е=о около 1 
тKEOG8 деDе6Lе6. �7 Eт4DKE, пD8HедH8E 6 
=е7од=оEтL деDе6Lе6, 5Kл8 877ото6ле=K 
5Dе6е=G4тKе Eк4<е9к8.

• � 2003 7оду поEтDое= =о6K9 детEк89 7оDодок, 
=4по<8=4NI89 Eт4DуN кDепоEтL, 6 Fе=тDе п4Dк4 
6о76еде=4 �лLп89Eк4O 7оDк4.

• � 2005 7оду пDо6еде=4 Dеко=EтDукF8O пеHеEод=о-
тDоп8=оG=о9 G4Eт8 п4Dк4, 8360 к6. <етDо6 плоI4д8 
уло6е=о тDоту4D=о9 пл8тко9, D4758то 10 F6етоG=KE 
клу<5. �Dо876едU= к4п8т4лL=K9 Dе<о=т ул8G=о7о 
оE6еIе=8O п4Dк4. 'Eт4=о6ле=K Eо6Dе<е==Kе 
тоDHеDK, пDоло6е= =о6K9 к45елL. �KE46е=о 500 
E46е=Fе6 кулLтуD=KE поDод деDе6Lе6 8 
куEт4D=8ко6. � октO5Dе 2005 7од4 6 7. !луFке 
пDоEод8л  еEпу5л8к4=Eк89 DеEт864лL-OD<4Dк4 
тDу6е=8ко6 леE4 «�46K=кi-2005». � п4Dке 5Kл 
D4Eполо6е= «�оDод �4EтеDо6», 7де 5Kл8 
пDедEт46ле=K =4Dод=Kе Dе<еEл4 8 пDо<KEлK 87 
6EеE Dе78о=о6  еEпу5л8к8.

1. �EтоD8O п4Dк4 
(пDодол6е=8е)



2. �4E46де=8O п4Dк4

2017 7од
�4EHт45=4O Dеко=EтDукF8O п4Dк4 пDоHл4 6 2017 7оду. 
�8до6о9 EоEт46 де=дDоDлоDK оEт4лEO пDе6=8<. Од=4ко 74 
20 лет 5Kло 6KDу5ле=о 5олLHе поло68=K деDе6Lе6 8 
куEт4D=8ко6 п4Dк4, EоED4=е=о – 42%. �ел4EL 4кт86=4O D45от4 
по поE4дке =о6KE деDе6Lе6 8 куEт4D=8ко6 8 уд4ле=8N 
464D89=KE деDе6Lе6. �Kл8 пеDепл4=8Dо64=K 4лле8.

1997 7од
�о оD8F84лL=K< доку<е=т4< п4Dк4 6 1997 7оду 7деEL 
=4EG8тK64лоEL 997  деDе6Lе6 8 куEт4D=8ко6. �олLHе 6Eе7о 
DоEло: кашта=ов ко=Eких, лип <елколиEт=ых и  кле=ов 
оEтDолиEт=ых.



2. В8дO D4Eте=89 п4Dк4

Се7од=O
�4Dк по –пDе6=е<у 
D4дует  7л47 поEет8телO 
H8Dок8< 68до6K< 
D47=оо5D478е< 
деDе6Lе6: л8пK, 5еDе7K, 
ко=Eк89 к4Hт4=, E8Dе=L, 
ел8, EоE=K, ту8, 
<о66е6елL=8к8&. 



3. КулPтуD=ое =4Eлед8е 
п4Dк4

• �еEколLко EкулLптуD, уEт4=о6ле==KE еIе 
6 70-80 7одK пDоHло7о Eтолет8O, 
EоED4=8л8EL до =4H8E д=е9 8 дел4Nт п4Dк 
=4Hе7о 7оDод4 поEо68< =4 дDу78е п4Dк8 
Eо6етEк8E 6Dе<е=.



3. КулPтуD=ое =4Eлед8е 
п4Dк4

&4к8е Eо6Dе<е==Kе EкулLптуD=Kе 
ко<по78F88 =4Dод=KE у<елLFе6 
укD4H4Nт п4Dк Eе7од=O



3. КулPтуD=ое =4Eлед8е 
п4Dк4

�еDе6O==Kе EкулLптуDK,  
поE6OIе==4O лNдO<, 
пDоEл4686H8< !луFк 8 
�ел4DуEL – Eо6Dе<е==ое 
=4Eлед8е п4Dк4.  
!о7д4=K EкулLптуDK 6 
2013 6 D4<к4E 
пD47д=8к4-ко=куDE4 
<4EтеDо6 деDе6O==о9 
<о=у<е=т4лL=о9 
EкулLптуDK «!ол=еG=ое 
тепло деDе64». 



4. ДеDе6PO-7874=тO 
� п4Dке EоED4=8л8EL деEOтк8  
деDе6Lе6, котоDKе 5Kл8 поE46е=K 
6 пеD6Kе 7одK е7о Dеко=EтDукF88.  
�E =е пеDепут4тL – Mто E4<Kе 
=4EтоOI8е 8Eпол8=K. 



5. Ц6ет=8к8 п4Dк4

Клу<5 6 п4Dке =е оGе=L  <=о7о. 
Од=4ко 74 поEлед=8е д64 7од4 
поO68л8EL =о6Kе 8=теDеE=Kе 
F6ет=8к8, котоDKе D4дуNт =е 
толLко D47=оо5D478е< F6ето6 8 
кD4Eок =4 =8E, =о 8 
оD878=4лL=K<8 DоD<4<8. 

КDу7л4O клу54 6о7ле 
Fе=тD4лL=о7о 6Eод4. 
(Лето 2023 7од4).

КDу7л4O клу<54 6о7ле 
Fе=тD4лL=о7о 6Eод4. �пDелL 
20247. ОтF6ел8 кDокуEK 8 
=4G8=4етEO F6ете=8е тNлLп4=о6. 

�оEлед=8е д64 7од4 6 
п4Dке поO68л8EL 
8=теDеE=Kе D454тк8 E 
E6о9=K<8 D4Eте=8O<8.   



5. Ц6ет=8к8 п4Dк4

�еE=о9 6 п4Dке 
D4EF6ет4Nт луко68G=Kе 
(=4DF8EEK, тNлLп4=K, 
<уEк4D8, кDокуEK), 4 
лето< D4дуNт 7л47 
лL68=K9 7е6, E4лL68O, 

пету=8O). �7 <=о7олет=8E 
F6етоG=KE D4Eте=89 
6EтDеG4NтEO EоEтK, 
4Eт8лL5е, доDо=8ку<, 

8D8EK



6. Алле8 п4Dк4 8 
Dо=т4=

�лле8 п4Dк4 Eоед8=ONтEO 6 од8= Fе=тD 
к Dо=т4=у, E8<6ол878DуO Eол=Fе 8 е7о 
луG8.

�о6K9 Dо=т4= 6 п4Dке уEт4=о68л8 6 2016 7оду к 
900-лет8N 7оDод4. О= поEтDое= =4 <еEте Eт4Dо7о 
Dо=т4=4, котоDK9 D4до64л 68теле9 8 7оEте9 
7оDод4 5олее 40 лет



6. Алле8 п4Dк4
�Eе 4лле8 п4Dк4 6едут поEет8теле9 к Dо=т4=у. 

�еDе7о64O 4ллеO

Кле=о64O 4ллеO �ллеO 87 л8пK 8 ту8 74п4д=о9



6. Алле8 п4Dк4

�ллеO 87 ту8 74п4д=о9 �4 Mто9 4ллее <о6=о у68детL д46е  ду5! 

�ло64O 4ллеO 



7. �о=O отдOE4 

�4Dк о5уEтDое= <=о6еEт6о< Eк4<еек 8 
д8749=еDEк8E уD= длO <уEоD4. �4 
оE=о6=о9 плоI4дке п4Dк4 Eо6Eе< 
=ед46=о поO68л4EL <8=8- EFе=4.  
�EтL =еEколLко 7о= длO отдKE4.



7. �о=O отдOE4 
�6уD=4O декоD4т86=4O 
4Dк4  пD8 6Eоде 6 п4Dк 
под �о6K9 7од 
746874етEO о7=O<8 8 
Eт4=о68тEO ODко9 
Dото7о=о9!



7. �о=O отдOE4 

� п4Dке пD8EутEт6уNт 8 
4кт86=Kе 7о=K отдKE4: =о64O 
детEк4O плоI4дк4, Eке9т 
плоI4дк4, 4 =4 6Eоде Eто8т 
ук474телL, E по<оILN котоDо7о 
<о6=о пDо6еD8тL Eе5O 6 
оD8е=т8Dо64=88.



7. �о=O отдOE4 

�4H п4Dк кулLтуDK 8 отдKE4-

<еEто пDо6еде=8O  кулLтуD=о-

<4EEо6KE <еDопD8Oт89.
� Mто< 7оду 6 п4Dке кулLтуDK 
7оDод4 !луFк4 6еEL 7оDод 
от<еG4л <4Eле=8Fу.



7. �о=O отдOE4 

! п4Dко< EоEедEт6ует 7оDодEко9 
Eт4д8о= !луFко7о Dут5олL=о7о 
клу54, =4 котоDо< пDоHл4 
5олLH4O Dеко=EтDукF8O 6 2005 8 
2017 7од4E.



8. �олодOе поE4дк8

�д<8=8EтD4F8O п4Dк4 
745от8тEO о 5л47оуEтDо9Eт6е =е 
толLко 6 кулLтуD=о< пл4=е, =о 
8 6 пл4=е D4Eт8телL=о7о 
D47=оо5D478O.

� 4пDеле 2024 7од4 
поE46е=K  
<олодKе EоE=K 8 
л8пK.



�4клNче=8е

�K лN58< E6о9 п4Dк. 
�деEL <=о6еEт6о 
686оп8E=KE 68до6, 
котоDK<8 <о6=о 
полN5о64тLEO. 
�=о7о деDе6Lе6, 8<еNI8E 
<=о7олет=NN 8EтоD8N.
� D45от=8к8 п4Dк4 8 
пDоEто =е5е7D47л8G=Kе 
лNд8 по<о74Nт е<у 
пDоF6ет4тL.


